Correlation between the quantity of water and daily and
hourly exchange rates
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Water flow and fish size

« Water should not flow faster within 1 second than the actual
total length of the reared fish. However, the maximum velocity
of water should not exceed 20 cm/sec (12 m/min) even if the
fish is longer than 20 cm.

« The optimal velocity of water iIs 2-3 cm/sec (1.2-1.8 m/min)
for smaller fish and 4-10 cm/sec (2.4-6 m/min.) for larger
ones. However, the actual speed of water per second should
not be faster than from one-half to three-quarters of the length
of the reared fish.



Site Selection )



Water Quantity and Quality

FIGURE 32
seasonal fluctuations in the quantity of available water

rMote: The upper amowes indicate the kevek of available maxirmuom quantity of water and the lower armwg indicate the kvl of available minirmuom
quantity of water.




Slope and Soil Quality

FI'SIURE =23
Importance of skope and soil quality insite selection
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1. Slope of the site and arrangement of tanks
1.2
It iz important to seledt a site with substantial slopes. This
will ensurethe filling and drainage of the rearing tanks ——
by grawvity. 1.1 If a site haz a gentle slope, the tanks can be e T e P
arranged along it. 1.2 If the site hazs a stesgper slope,. the , - j ™y -l i Tl
— .

tanks should be arranged parallel to the slope.

2. %ail quality

The requirerments for building
a fish farmm depend on the type ;
of buildings and earthfconcrete F

structures planned. _f—w
For concrete tanks, the =oil e
zhould be strong enough to hold

the foundation of the tanks. W @ -
For garth ponds, the structure, __ﬂ.r—.._:_’:_g
conFtenoge® and permesbhiihe® i -

aof the zail should be suitable far
building strong dykes.

Souyres ADCP (1924 Coche (1922, 122590 Coche, hluirand Laoughlin (1995,




Basic Economic Calculations of

Investment and Production




Economic calculations of investment are completed both before start (planning
phase) and after completion of the implementation of a trout production unit or farm.
The tollowing calculations should usually be completed at the planning phase and by
evalnation of investment:

¢+ Total cost of investment: It is compiled from the costs of items listed in
Table A10.5. Both the total costs and the proportions of the different items of
investment should be observed in the analyses,

¢ Internal rate of return (IRR): It 15 the Hinancial or sconorme indicator of the net
benefits expected froma project or enterprise. It 1s expressed as a percentage. In a
financial analysis, the IRR should be compared with the rate of interest prevailing
in the market (Leopold, 1578),

*+ Net present value (NFV): The value of an enterprise at the present time, after
applying the process of discounting to its costs or benefits (Leopold, 1978). This
value 15 caleulated for a period of ten years with the current applicable bank
imterest rate.

* Payback period: Thisindicator shows the needed time (in years) for the investment
to pay back its expense,



Economic calculations of production are calculated in order to obtain exact information
about the economic results of fish production, The production cost 15 caleulated both
before (in the planning phase) and after production. The caleulations are:

+ Total cost of production includes the cost of a wide range of tems listed m

Table A10.%, Dunng the analyses, both the costs and the proportions of the
different items of production should be observed,

* Unit price 15 calculated in order to establish profitable production, When plannimg,
both break-even™ and expected umit prices should be caleulated,

+ (ross revenue expresses the total value of production that is realized on the
market,

* Profit 15 the hnancial beneht of the production, Gross and net profits are

distinguished. Taxes are paid on the basis of gross profit, Consequently, net proht
15 the amnount that rermains after paying taxes,



Checklists for planning and evaluation of
investment and production
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